o g

Total number of printed pages—4
53 (MA 401) NMCP
2019

NUMERICAL METHODS AND Ay
COMPUTER PROGRAMMING - ,qy .
~

Paper : MA 401 /

&
Full Marks : 100 “:
Time : Three hours R
\@l e,

The figures in the margin indicate
full marks for the questions.

Answer any five questions.

1. (a) Find a real root of the equation
x® -x-11=0, using the bisection
method correct to three decimal places.

6

(b) State Newton’s forward interpolation
formula. Compute f(1.2) from the
following data: 1+7=8

x| 0o 18 P20 | 25 ¢ 8.0
f(x) :]9.0[32.75[79.0 [155.25 | 269.0

Contd.
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(@) Using Iteration method, find a real root
of 3x-log(x)-16=0 correct to
fourth decimal places. S

(b) Given the following data: 5

x| SHOE1I R S
flx) :12|3[12 (147
What is the form of the function ?

(c) Fit a parabola y=|:1-|-lf;uc+c:x2 to the

following data : 10
7 4 6 8 10 12
3.07 (12.85 [ 31.47 | 57.38 | 91.29 | 100.02

(a) Apply the Gauss-Seidel method to solve
the following equations : 7
28x+4y-z=32
x+3y+10z =24
2x+17y+4z=35

(b) Evaluate f(3.8) from the following data :

5
X049 Oyl 213F 4
f(x) :|1]1.5(2.2(3.1|4.6
(c) Using Euler’s Improved method, find a
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solution of the equation gxg =Y+ x* with

initial condition y= 1 when x= 0 for the
range 0< x<0.8 in steps of 0.2. 8
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